Latest Trilogy Placement Questions Paper

Aptitude Questions

Q. An orange glass has orange juice and white glass has apple juice both of
equal volumes.50ml of the orange juice is taken and poured into the apple
juice.50ml from the white glass is poured into the orange glass.Of the two
quantities, the amount of apple juice in the orange glass and the amount of
orange juice in the white glass, which one is greater and by how much?

Ans: The two quantities are equal
Q. A ship went on a voyage.

After it had travelled 180 miles a plane statrted with 10 times the speed of
the ship.

Find the distance when they meet from starting point.
Ans: 200miles.
Q How many birthday's does the average man have.
Q Total number of month(s) having 29 days in the year 2000

Q What occurs once in a minute, twice in a moment, but not once in a hundred
years?

Q Consider you are the bus driver 20 ppl get in on first stop ,42 get in on second
and 10 get off on second and long story........... wat is the name of bus driver

Q an electrician and a plumber are standing in line @ the movies,one is the father
of the others son.how is this possible?

Ans-They are husband and wife.
Q If it takes 5 mins to boil 1 egg how much time will it take to boil 4 eggs?
Ans-5mins

Q Two fathers and 2 son went for hunting and only 3 ppl retruned how is it
possible.None of them were killeed.

Ans Grandfather-Father-Son
ABC
2 fathers= Father of ¢ and father of B
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2 Sons = Son of A and Son of B

Arithmetic Ability Questions

Q1. If it takes 5 mins to boil 1 egg, how much time will it take to boil 4 eggs?

ANS: 5 mins

Q2. What occurs once in a minute, twice in a moment, but not once in a hundred
years?

Q3. A ship went on a voyage. After it had travelled 180 miles a plane started with
10 times the speed of the ship. Find the distance when they meet from starting
point.

ANS: 200 miles.

Q4. Two fathers and 2 sons went for hunting and only 3 people returned. How is it
possible? None of them were killed.

ANS: Grandfather-Father-Son
=>ABC

2 fathers= Father of ¢ and father of B
2 Sons = Son of A and Son of B

Q5. An orange glass has orange juice and white glass has apple juice both of
equal volumes. 50 ml of the orange juice is taken and poured into the apple juice.
50 ml from the white glass is poured into the orange glass. Of the two quantities,
the amount of apple juice in the orange glass and the amount of orange juice in
the white glass, = which one is greater and by how much?

ANS: The two quantities are equal.
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Q6. An electrician and a plumber are standing in line @ the movies, one is the
father of the others son. How is this possible?

ANS: They are husband and wife.

Q7. What is the total number of month(s) having 29 days in the year 2000?
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